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i BT RF =2 o (m)
1 |[BEH HEAEE = 84 H 1,045
2 |BKHE™ HEAHE=E = 86| H 954
3 |BkHE™ HEAE=E = 87( H 971
4 |BKHT™ HEAEE = 102 H 985
5 |BHET™ HEAHE=E i o IR 92 H 1,029
6 |BKE™ HEAE=E AX 184-127( H 790
7 |BKET HEAEE AX 184-209( H 115
8 |WKHT™ FIRFRIZR |5H 12| H 2,060
9 |BkHET™ FIRFRIZR |5H 16-1] H 1,659
10 |BkHETH FIRRFRIZR | K2R 4 H 333
11 |RkHETH FIRFARIZIR MR 33-1] H 469
12 |BkHET FIRFARIZIR MR 55( H 109
13 |BkHET FIRFARIZIR MR 57-2| H 39
14 |BKHET FIRFARIZIR MR 63| H 1,293
15 |RkHETH FIRFARIZIR MR 64 H 1,291
16 |RkKHET TAFEF ]== 7-1] H 132
17 |BHET TAFEF ]== 7-2| H 280
18 |RkKHTH TAFEF ]== 11-3] H 109
19 |BkHETH FRFRSE s 203-1| H 216
20 (FkETH HIFXRF Val 280-1| H 50
21 (@™ HIEF A W]an /R 204-41 H 68
22 (PETH HIEF A Wman /R 252 M 2,773
23 |PEH HIEF A Wman /R 253 M 1,021
24 (FETH my NE xR/ T 123-2| H 31
25 (FETH my NE xR/ T 124-2| H 31
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i BT A K=F = Hh & ()
26 |MH™ Y /NE B 5 14-1| /A 578
27 |®HE™ Y /NE B 5 15-1| /A 406
28 |MH™ Y /NE B 5 17-1| /A 234
29 |®H™ Y /NE B 5 20-1| 175
30 |®H™ Y /NE BRI 49-1 H 1,013
31 |®H™ Y /NE BRI 50-1 H 1,013
32 |®HE™ Y /NE BRI 51-1 H 1,013
33 |®HE™ Y /NE BRI 52-1 H 996
34 |#H™ Y /NE L% 58-2 IH 185
35 |#H™ Y /NE L% 58-5 IH 234
36 |MHE™ Y /NE JEEIR 35-1| 26
37 |®HE™ Y /NE JEEIR 39-1| A 734
38 |MH™ Y /NE ShiN 190| 347
39 |FMHE™ HER R EY EES 1-2| /H 1,001
40 |FKEH™ HER R EY EES 1-6 /H 2,089




